Some q-supercongruences from Singh's quadratic transformation

Victor J. W. Guo

School of Mathematics, Hangzhou Normal University, Hangzhou 311121, People's Republic of China jwguo@eyou.com

Abstract. Applying Singh's quadratic transformation and the 'creative microscoping' method (introduced by the author and Zudilin in 2019), we prove several new q-supercongruences for truncated $_4\phi_3$ series. Some related conjectures on q-supercongruences are also presented.

Keywords: cyclotomic polynomials; *q*-supercongruences; Singh's quadratic transformation; creative microscoping

AMS Subject Classifications: 33D15; Secondary 11A07, 11B65

1. Introduction

Let p always stand for a prime throughout this paper. In 1997, Van Hamme [17, (H.2)] proved the following interesting supercongruence:

$$\sum_{k=0}^{(p-1)/2} \frac{(\frac{1}{2})_k^3}{k!^3} \equiv \begin{cases} -\Gamma_p(1/4)^4 \pmod{p^2}, & \text{if } p \equiv 1 \pmod{4}, \\ 0 \pmod{p^2}, & \text{if } p \equiv 3 \pmod{4}, \end{cases}$$
(1.1)

where $(a)_n = a(a+1)\cdots(a+n-1)$ denotes the Pochhammer symbol and $\Gamma_p(x)$ is the *p*-adic Gamma function.

In the past few years, q-analogues of supercongruences have been widely studied by a number of authors (see [1,3-5,7,9-13,15,18-20]). In particular, the author and Zudilin [7] developed a method, which they called 'creative microscoping', to establish q-analogues of many classical supercongruences. They [9, Theorem 2] also utilized the method of creative microscoping to give a q-analogue of (1.1) as follows: modulo $\Phi_n(q)^2$,

$$\sum_{k=0}^{(n-1)/2} \frac{(q;q^2)_k^2(q^2;q^4)_k}{(q^2;q^2)_k^2(q^4;q^4)_k} q^{2k} \equiv \begin{cases} \frac{(q^2;q^4)_{(n-1)/4}^2}{(q^4;q^4)_{(n-1)/4}^2} q^{(n-1)/2} & \text{if } n \equiv 1 \pmod{4}, \\ 0 & \text{if } n \equiv 3 \pmod{4}. \end{cases}$$
(1.2)

Here $(a;q)_n = (1-a)(1-aq)\cdots(1-aq^{n-1})$ is the *q*-shifted factorial, $[n] = (1-q^n)/(1-q)$ denotes the *q*-integer, and $\Phi_n(q)$ is the *n*-th cyclotomic polynomial in *q*, which may be given by

$$\Phi_n(q) = \prod_{\substack{1 \le k \le n \\ \gcd(n,k)=1}} (q - \zeta^k),$$

where ζ denotes an *n*-th primitive root of unity.

The author and Schlosser [5] investigated q-congruences and q-supercongruences more systematically by employing transformation formulas for basic hypergeometric series, together with all kinds of techniques such as suitably combining terms, and the creative microscoping method.

The purpose of this note is to give some q-supercongruences using Singh's quadratic transformation [2, Appendix (III.21)]. Our first result is closely related to the aforementioned q-supercongruence (1.2), and can be stated as follows.

Theorem 1.1. Let $d \ge 2$ be an integer and $d \ne 3$. Let $n \equiv 1 \pmod{2d}$ be a positive integer. Then, modulo $\Phi_n(q)^2$,

$$\sum_{k=0}^{(n-1)/d} \frac{(q;q^d)_k^2 (q^{2d-2};q^{2d})_k q^{dk}}{(q^d;q^d)_k (q^{2d-2};q^d)_k (q^{d+2};q^{2d})_k} \equiv \sum_{k=0}^{(n-1)/(2d)} \frac{(q;q^{2d})_k^2 (q^{2d-2};q^{2d})_k q^{2dk}}{(q^{2d};q^{2d})_k (q^{3d-2};q^{2d})_k (q^{d+2};q^{2d})_k}.$$
 (1.3)

Letting n = p and $q \to 1$ in (1.3), we get the following result: for $d \ge 2$, $d \ne 3$, and $p \equiv 1 \pmod{2d}$,

$$\sum_{k=0}^{(p-1)/d} \frac{\left(\frac{1}{d}\right)_k^2 \left(\frac{d-1}{d}\right)_k}{k! \left(\frac{2d-2}{d}\right)_k \left(\frac{d+2}{2d}\right)_k} \equiv \sum_{k=0}^{(p-1)/(2d)} \frac{\left(\frac{1}{2d}\right)_k^2 \left(\frac{d-1}{d}\right)_k}{k! \left(\frac{3d-2}{2d}\right)_k \left(\frac{d+2}{2d}\right)_k} \pmod{p^2}.$$
 (1.4)

On the other hand, form (1.2) and d = 2 case of (1.3) we deduce that, for any positive integer $n \equiv 1 \pmod{4}$,

$$\sum_{k=0}^{(n-1)/4} \frac{(q;q^4)_k^2(q^2;q^4)_k}{(q^4;q^4)_k^3} q^{4k} \equiv \frac{(q^2;q^4)_{(n-1)/4}^2}{(q^4;q^4)_{(n-1)/4}^2} q^{(n-1)/2} \pmod{\Phi_n(q)^2}.$$
 (1.5)

Our second result is the following q-supercongruence similar to (1.3).

Theorem 1.2. Let $d \ge 4$ be an integer. Let $n \equiv -1 \pmod{2d}$ be a positive integer and $n \neq 7$. Then, modulo $\Phi_n(q)^2$,

$$\sum_{k=0}^{(n+1)/d} \frac{(q^{-1};q^d)_k^2 (q^{2d+2};q^{2d})_k q^{dk}}{(q^d;q^d)_k (q^{2d+2};q^d)_k (q^{d-2};q^{2d})_k} \equiv \sum_{k=0}^{(n+1)/(2d)} \frac{(q^{-1};q^{2d})_k^2 (q^{2d+2};q^{2d})_k q^{2dk}}{(q^{2d};q^{2d})_k (q^{3d+2};q^{2d})_k (q^{d-2};q^{2d})_k}.$$
 (1.6)

Our third result is a generalization of (1.3) for d = 2.

Theorem 1.3. Let $n \equiv 1 \pmod{4}$ be a positive integer. Then

$$\sum_{k=0}^{(n-1)/2} \frac{(q;q^2)_k^2(q^2;q^4)_k}{(q^2;q^2)_k^2(q^4;q^4)_k} q^{2k} \equiv \sum_{k=0}^{(n-1)/2} \frac{(q;q^4)_k^2(q^2;q^4)_k}{(q^4;q^4)_k^3} q^{4k} \pmod{\Phi_n(q)^3}.$$
(1.7)

Letting n = p and $q \to 1$ in (1.7), we are led to

$$\sum_{k=0}^{(p-1)/2} \frac{(\frac{1}{2})_k^3}{k!^3} \equiv \sum_{k=0}^{(p-1)/2} \frac{(\frac{1}{4})_k^2(\frac{1}{2})_k}{k!^3} \pmod{p^3} \quad \text{for } p \equiv 1 \pmod{4}.$$
(1.8)

Note that Long and Ramakrishna [14, Theorem 3] gave a generalization of (1.1):

$$\sum_{k=0}^{(p-1)/2} \frac{(\frac{1}{2})_k^3}{k!^3} \equiv \begin{cases} -\Gamma_p(1/4)^4 \pmod{p^3}, & \text{if } p \equiv 1 \pmod{4}, \\ -\frac{p^2}{16}\Gamma_p(1/4)^4 \pmod{p^3}, & \text{if } p \equiv 3 \pmod{4}. \end{cases}$$
(1.9)

Combining (1.8) and (1.9) and using Sun's result [16, (4.3)]:

$$-\Gamma_p(1/4)^4 \equiv 4x^2 - 2p - \frac{p^2}{4x^2} \pmod{p^3} \text{ for } p = x^2 + 4y^2 \equiv 1 \pmod{4}$$

we have the following conclusion.

Corollary 1.4. Let $p = x^2 + 4y^2 \equiv 1 \pmod{4}$, where x and y are integers. Then

$$\sum_{k=0}^{p-1)/2} \frac{(\frac{1}{4})_k^2(\frac{1}{2})_k}{k!^3} \equiv 4x^2 - 2p - \frac{p^2}{4x^2} \pmod{p^3}.$$

It is also worth mentioning that Wang [18] and Wei [20] have given two different qsupercongruences on the left-hand side of (1.7) modulo $\Phi_n(q)^3$, which are both q-analogues of (1.9) for $p \equiv 1 \pmod{4}$. By the (d, r) = (2, 1) case of [4, Theorem 9], we know that the right-hand side of (1.7) is congruent to 0 modulo $\Phi_n(q)^2$, and thus by (1.2) the qsupercongruence (1.7) also holds modulo $\Phi_n(q)^2$ for $n \equiv 3 \pmod{4}$.

The paper is organized as follows. We shall prove Theorems 1.1–1.3 in Sections 2– 4, respectively. Finally, in Section 5, we propose some conjectural q-supercongruences, including a generalization of (1.7) modulo $\Phi_n(q)^4$.

2. Proof of Theorem 1.1

Recall that the basic hypergeometric series $_{r+1}\phi_r$ is defined as

$${}_{r+1}\phi_r \left[\begin{array}{c} a_1, a_2, \dots, a_{r+1} \\ b_1, b_2, \dots, b_r \end{array}; q, z \right] = \sum_{k=0}^{\infty} \frac{(a_1, a_2, \dots, a_{r+1}; q)_k z^k}{(q, b_1, \dots, b_r; q)_k}$$

We need Singh's quadratic transformation [2, Appendix (III.21)]:

$${}_{4}\phi_{3}\left[\begin{array}{c}a^{2},b^{2},c,d\\ab\sqrt{q},-ab\sqrt{q},-cd\end{array};q,q\right] = {}_{4}\phi_{3}\left[\begin{array}{c}a^{2},b^{2},c^{2},d^{2}\\a^{2}b^{2}q,-cd,-cdq\end{aligned};q^{2},q^{2}\right],$$
(2.1)

provided that both series terminate. For an elementary proof of this transformation, see [6, Section 5].

We first give the following parametric generalization of Theorem 1.1.

Theorem 2.1. Let $d \ge 2$ be an integer and a an indeterminate. Let $n \equiv 1 \pmod{2d}$ be a positive integer. Then, modulo $(1 - aq^n)(a - q^n)$,

$$\sum_{k=0}^{(n-1)/d} \frac{(aq;q^d)_k (q/a;q^d)_k (q^{2d-2};q^{2d})_k q^{dk}}{(q^d;q^d)_k (q^{2d-2};q^d)_k (q^{d+2};q^{2d})_k} \equiv \sum_{k=0}^{(n-1)/(2d)} \frac{(aq;q^{2d})_k (q/a;q^{2d})_k (q^{2d-2};q^{2d})_k q^{2dk}}{(q^{2d};q^{2d})_k (q^{3d-2};q^{2d})_k (q^{d+2};q^{2d})_k}.$$
(2.2)

Proof. Putting $q \mapsto q^d$, $a = q^{(1-n)/2}$, $b = q^{(1+n)/2}$, $c = q^{d-1}$, and $d = -q^{d-1}$ in Singh's transformation (2.1), for $n \equiv 1 \pmod{2d}$ we have

$${}_{4}\phi_{3}\left[\begin{array}{c}q^{1-n},q^{1+n},q^{d-1},-q^{d-1}\\q^{(d+2)/2},-q^{(d+2)/2},q^{2d-2}\end{array};q^{d},q^{d}\right] = {}_{4}\phi_{3}\left[\begin{array}{c}q^{1-n},q^{1+n},q^{2d-2},q^{2d-2}\\q^{d+2},q^{2d-2},q^{3d-2}\end{array};q^{2d},q^{2d}\right].$$

Namely, both sides of (2.2) are equal for $a = q^{-n}$ and $a = q^n$. Therefore, the *q*-congruence (2.2) is true modulo $1 - aq^n$ and $a - q^n$. Since $1 - aq^n$ and $a - q^n$ are relatively prime polynomials in *q*, we complete the proof.

Proof of Theorem 1.1. Since $n \equiv 1 \pmod{2d}$, we have gcd(2d, n) = 1. Hence, for $d \ge 2$ and $d \ne 3$, the polynomials

$$(q^d; q^d)_k (q^{2d-2}; q^d)_k (q^{d+2}; q^{2d})_k \quad (0 \le k \le (n-1)/d))$$

and

$$(q^{2d}; q^{2d})_k (q^{3d-2}; q^{2d})_k (q^{d+2}; q^{2d})_k \quad (0 \le k \le (n-1)/(2d))$$

are relatively prime to $\Phi_n(q)$. Moreover, the polynomial $1 - q^n$ has the factor $\Phi_n(q)$. The proof of (1.3) then follows from the congruence (2.2) by letting a = 1.

3. Proof of Theorem 1.2

Similarly as before, we first establish a parametric generalization of Theorem 1.2.

Theorem 3.1. Let $d \ge 4$ be an integer and a an indeterminate. Let $n \equiv -1 \pmod{2d}$ be a positive integer. Then, modulo $(1 - aq^n)(a - q^n)$,

$$\sum_{k=0}^{(n+1)/d} \frac{(aq^{-1};q^d)_k (q^{-1}/a;q^d)_k (q^{2d+2};q^{2d})_k q^{dk}}{(q^d;q^d)_k (q^{2d+2};q^d)_k (q^{d-2};q^{2d})_k} \equiv \sum_{k=0}^{(n+1)/(2d)} \frac{(aq^{-1};q^{2d})_k (q^{-1}/a;q^{2d})_k (q^{2d+2};q^{2d})_k q^{2dk}}{(q^{2d};q^{2d})_k (q^{3d+2};q^{2d})_k (q^{d-2};q^{2d})_k}.$$
(3.1)

Proof. Making the parameter substitutions $q \mapsto q^d$, $a = q^{-(n+1)/2}$, $b = q^{(n-1)/2}$, $c = q^{d+1}$, and $d = -q^{d+1}$ in (2.1), for $n \equiv -1 \pmod{2d}$ we have

$${}_{4}\phi_{3}\left[\begin{array}{c}q^{-n-1}, q^{n-1}, q^{d+1}, -q^{d+1}\\q^{(d-2)/2}, -q^{(d-2)/2}, q^{2d+2}\end{array}; q^{d}, q^{d}\right] = {}_{4}\phi_{3}\left[\begin{array}{c}q^{-n-1}, q^{n-1}, q^{2d+2}, q^{2d+2}\\q^{d-2}, q^{2d+2}, q^{3d+2}\end{array}; q^{2d}, q^{2d}\right].$$

That is, the two sides of (3.1) are equal for $a = q^{-n}$ and $a = q^n$. This proves that (2.2) holds modulo $1 - aq^n$ and $a - q^n$.

Proof of Theorem 1.2. Since $d \ge 4$, $n \equiv -1 \pmod{2d}$ and n > 7, we have gcd(2d, n) = 1 and the polynomials

$$(q^d; q^d)_k (q^{2d+2}; q^d)_k (q^{d-2}; q^{2d})_k \quad (0 \le k \le (n+1)/d))$$

and

$$(q^{2d};q^{2d})_k(q^{3d+2};q^{2d})_k(q^{d-2};q^{2d})_k \quad (0 \le k \le (n+1)/(2d))$$

are relatively prime to $\Phi_n(q)$. The proof of (1.6) then follows from the congruence (3.1) by setting a = 1.

4. Proof of Theorem 1.3

Likewise, we have a parametric generalization of Theorem 1.3.

Theorem 4.1. Let $n \equiv 1 \pmod{4}$ be a positive integer and a an indeterminate. Then, modulo $\Phi_n(q)(1-aq^n)(a-q^n)$,

$$\sum_{k=0}^{(n-1)/2} \frac{(aq;q^2)_k(q/a;q^2)_k(q^2;q^4)_k}{(q^2;q^2)_k^2(q^4;q^4)_k} q^{2k} \equiv \sum_{k=0}^{(n-1)/2} \frac{(aq;q^4)_k(q/a;q^4)_k(q^2;q^4)_k}{(q^4;q^4)_k^3} q^{4k}.$$
 (4.1)

Proof. Letting $q \mapsto q^2$, $a \to \sqrt{aq}$, $b \to \sqrt{q/a}$, $c = q^{1-n}$, and $d = -q^{1-n}$ in (2.1), for odd n we have

$${}_{4}\phi_{3}\left[\begin{array}{c}aq,q/a,q^{1-n},-q^{1-n}\\q^{2},-q^{2},q^{2-2n}\end{array};q^{2},q^{2}\right] = {}_{4}\phi_{3}\left[\begin{array}{c}aq,q/a,q^{2-2n},q^{2-2n}\\q^{4},q^{2-2n},q^{4-2n}\end{array};q^{4},q^{4}\right],$$

which can be written as

$$\sum_{k=0}^{(n-1)/2} \frac{(aq;q^2)_k(q/a;q^2)_k(q^{2-2n};q^4)_k}{(q^2;q^2)_k(q^{2-2n};q^2)_k(q^4;q^4)_k} q^{2k} = \sum_{k=0}^{(n-1)/2} \frac{(aq;q^4)_k(q/a;q^4)_k(q^{2-2n};q^4)_k}{(q^4;q^4)_k^2(q^{4-2n};q^4)_k} q^{4k}.$$
 (4.2)

Note that $q^n \equiv 1 \pmod{\Phi_n(q)}$, and, for $0 \leq k \leq (n-1)/2$, the polynomials $(q^2; q^2)_k^2 (q^4; q^4)_k$ and $(q^4; q^4)_k^3$ are relatively prime to $\Phi_n(q)$. From (4.2) we deduce that (4.1) holds modulo $\Phi_n(q)$. On the other hand, by the d = 2 case of (2.2), modulo $(1 - aq^n)(a - q^n)$,

$$\sum_{k=0}^{(n-1)/2} \frac{(aq;q^2)_k(q/a;q^2)_k(q^2;q^4)_k}{(q^2;q^2)_k^2(q^4;q^4)_k} q^{2k} \equiv \sum_{k=0}^{(n-1)/4} \frac{(aq;q^4)_k(q/a;q^4)_k(q^2;q^4)_k}{(q^4;q^4)_k^3} q^{4k},$$

which is equivalent to (4.1) modulo $(1 - aq^n)(a - q^n)$. This is because $(aq; q^4)_k(q/a; q^4)_k$ contains the factor $(1 - aq^n)(1 - q^n/a)$ for $(n - 1)/4 < k \leq (n - 1)/2$. Since $\Phi_n(q)$ is coprime with $(1 - aq^n)(a - q^n)$, we complete the proof.

Proof of Theorem 1.3. Letting a = 1 in (4.1), we obtain the desired q-supercongruence (1.7).

5. Concluding remarks and open problems

Numerical evaluation implies that the q-congruence (1.3) does not hold for d = 3 and the q-congruence (1.6) does not hold for n = 7. Moreover, when we sum both sides of (1.3) over k up to n - 1, the q-congruence seems still to be true. This is also the case for d = 3 (which is more or less surprising). Namely, we have the following conjecture.

Conjecture 5.1. Let $d \ge 2$ be an integer. Let $n \equiv 1 \pmod{2d}$ be a positive integer. Then, modulo $\Phi_n(q)^2$,

$$\sum_{k=0}^{n-1} \frac{(q;q^d)_k^2 (q^{2d-2};q^{2d})_k q^{dk}}{(q^d;q^d)_k (q^{2d-2};q^d)_k (q^{d+2};q^{2d})_k} \equiv \sum_{k=0}^{n-1} \frac{(q;q^{2d})_k^2 (q^{2d-2};q^{2d})_k q^{2dk}}{(q^{2d};q^{2d})_k (q^{3d-2};q^{2d})_k (q^{d+2};q^{2d})_k}$$

Similarly, Theorem 1.2 has such a generalization.

Conjecture 5.2. Let $d \ge 3$ be an integer. Let $n \equiv -1 \pmod{2d}$ be a positive integer. Then, modulo $\Phi_n(q)^2$,

$$\sum_{k=0}^{n-1} \frac{(q^{-1};q^d)_k^2 (q^{2d+2};q^{2d})_k q^{dk}}{(q^d;q^d)_k (q^{2d+2};q^d)_k (q^{d-2};q^{2d})_k} \equiv \sum_{k=0}^{n-1} \frac{(q^{-1};q^{2d})_k^2 (q^{2d+2};q^{2d})_k q^{2dk}}{(q^{2d};q^{2d})_k (q^{3d+2};q^{2d})_k (q^{d-2};q^{2d})_k}.$$

Before we propose the third conjecture of this paper, we give the following q-congruence related to Theorem 1.3.

Theorem 5.3. Let $n \equiv 1 \pmod{4}$ be a positive integer. Then

$$\sum_{k=0}^{(n-1)/2} \frac{(q;q^2)_k^2(q^2;q^4)_k}{(q^2;q^2)_k^2(q^4;q^4)_k} q^{2k} \equiv \sum_{k=0}^{n-1} \frac{(q;q^2)_k^2(q^2;q^4)_k}{(q^2;q^2)_k^2(q^4;q^4)_k} q^{2k} \pmod{\Phi_n(q)^4}.$$
(5.1)

Proof. By [2, Appendix (I.11)], we have

$$\frac{(a;q)_{n-k}}{(b;q)_{n-k}} = \frac{(a;q)_n (q^{1-n}/b;q)_k}{(b;q)_n (q^{1-n}/a;q)_k} \left(\frac{b}{a}\right)^k \equiv \frac{(a;q)_n (q/b;q)_k}{(b;q)_n (q/a;q)_k} \left(\frac{b}{a}\right)^k \pmod{\Phi_n(q)}.$$

It follows that

$$\sum_{k=(n+1)/2}^{n-1} \frac{(q;q^2)_k^2(q^2;q^4)_k}{(q^2;q^2)_k^2(q^4;q^4)_k} q^{2k}$$

$$= \sum_{k=1}^{(n-1)/2} \frac{(q;q^2)_{n-k}^2(q^2;q^4)_{n-k}}{(q^2;q^2)_{n-k}^2(q^4;q^4)_{n-k}} q^{2n-2k}$$

$$\equiv \frac{(q;q^2)_n^2(q^2;q^4)_n q^{2n}}{(q^2;q^2)_{n-1}^2(q^4;q^4)_{n-1}} \sum_{k=1}^{(n-1)/2} \frac{(q^2;q^2)_{k-1}^2(q^4;q^4)_{k-1}}{(q;q^2)_k^2(q^2;q^4)_k} q^{2k} \pmod{\Phi_n(q)^4}, \quad (5.2)$$

where we have used the q-congruence $(q;q^2)_n^2(q^2;q^4)_n \equiv 0 \pmod{\Phi_n(q)^3}$. Similarly to [5, Lemma 3.1], we can prove that

$$\frac{(q^2;q^2)_{(n+1)/2-k-1}}{(q;q^2)_{(n+1)/2-k}} \equiv (-1)^{(n+1)/2} \frac{(q^2;q^2)_{k-1}}{(q;q^2)_k} q^{(n^2-1)/4+k} \pmod{\Phi_n(q)}$$

for $1 \leq k \leq (n-1)/2$, and so the k-th term plus the ((n+1)/2 - k)-th term s in the summation of the right-hand side (5.2) is congruent to 0 modulo $\Phi_n(q)$. Since the fraction before the summation is congruent to 0 modulo $\Phi_n(q)^3$, we conclude that the right-hand side of (5.2) is congruent to 0 modulo $\Phi_n(q)^4$, thus establishing (5.1).

Conjecture 5.4. Let $n \equiv 1 \pmod{4}$ be a positive integer. Then

$$\sum_{k=0}^{(n-1)/2} \frac{(q;q^2)_k^2(q^2;q^4)_k}{(q^2;q^2)_k^2(q^4;q^4)_k} q^{2k} \equiv \sum_{k=0}^{n-1} \frac{(q;q^4)_k^2(q^2;q^4)_k}{(q^4;q^4)_k^3} q^{4k} \pmod{\Phi_n(q)^4}.$$

Recently, the author and Zudilin [9] proved a number of Dwork-type q-supercongruences. We conjecture that (1.5) can be generalized to the following Dwork-type q-supercongruence.

Conjecture 5.5. Let $n \equiv 1 \pmod{4}$ be a positive integer and let $r \ge 1$. Then, modulo $\prod_{j=1}^{r} \Phi_{n^j}(q)^2$,

$$\sum_{k=0}^{(n^{r}-1)/d} \frac{(q;q^{4})_{k}^{2}(q^{2};q^{4})_{k}}{(q^{4};q^{4})_{k}^{3}} q^{4k}$$

$$\equiv \frac{(q^{2};q^{4})_{(n^{r}-1)/4}^{2}(q^{4n};q^{4n})_{(n^{r-1}-1)/4}^{2}}{(q^{4};q^{4})_{(n^{r}-1)/4}^{2}(q^{2n};q^{4n})_{(n^{r-1}-1)/4}^{2}} q^{(n-1)/2} \sum_{k=0}^{(n^{r-1}-1)/d} \frac{(q^{n};q^{4n})_{k}^{2}(q^{2n};q^{4n})_{k}}{(q^{4n};q^{4n})_{k}^{3}} q^{4nk},$$

where d = 1, 2, 4.

References

- M. El Bachraoui, On supercongruences for truncated sums of squares of basic hypergeometric series, Ramanujan J. 54 (2021), 415–426.
- [2] G. Gasper and M. Rahman, Basic Hypergeometric Series, second edition, Encyclopedia of Mathematics and Its Applications 96, Cambridge University Press, Cambridge, 2004.
- [3] V.J.W. Guo and J.-C. Liu, q-Analogues of two Ramanujan-type formulas for $1/\pi$, J. Difference Equ. Appl. 24 (2018), 1368–1373.
- [4] V.J.W. Guo and M.J. Schlosser, Some new q-congruences for truncated basic hypergeometric series, Symmetry 11(2) (2019), Art. 268.
- [5] V.J.W. Guo and M.J. Schlosser, Some q-supercongruences from transformation formulas for basic hypergeometric series, Constr. Approx. 53 (2021), 155–200.
- [6] V.J.W. Guo and J. Zeng, Short proofs of summation and transformation formulas for basic hypergeometric series, J. Math. Anal. Appl. 327 (2007), 310–325.
- [7] V.J.W. Guo and W. Zudilin, A q-microscope for supercongruences, Adv. Math. 346 (2019), 329–358.
- [8] V.J.W. Guo and W. Zudilin, On a q-deformation of modular forms, J. Math. Anal. Appl. 475 (2019), 1636–646.
- [9] V.J.W. Guo and W. Zudilin, Dwork-type supercongruences through a creative qmicroscope, J. Combin. Theory, Ser. A 178 (2021), Art. 105362.
- [10] H. He and X. Wang, Some congruences that extend Van Hamme's (D.2) supercongruence, J. Math. Anal. Appl. 527 (2023), Art. 127344.
- [11] J.-C. Liu, On a congruence involving q-Catalan numbers, C. R. Math. Acad. Sci. Paris 358 (2020), 211–215.
- [12] J.-C. Liu and F. Petrov, Congruences on sums of q-binomial coefficients, Adv. Appl. Math. 116 (2020), Art. 102003.
- [13] Y. Liu and X. Wang, Some q-supercongruences from a quadratic transformation by Rahman, Results Math. 77 (2022), Art. 44.
- [14] L. Long and R. Ramakrishna, Some supercongruences occurring in truncated hypergeometric series, Adv. Math. 290 (2016), 773–808.
- [15] H.-X. Ni and H. Pan, Divisibility of some binomial sums, Acta Arith. 194 (2020), 367–381.
- [16] Z.-H. Sun, Supercongruences involving Apéry-like numbers and binomial coefficients, AIMS Math. 7 (2022), 2729–2781.
- [17] L. Van Hamme, Some conjectures concerning partial sums of generalized hypergeometric series, in: *p*-Adic Functional Analysis (Nijmegen, 1996), Lecture Notes in Pure and Appl. Math. 192, Dekker, New York, 1997, pp. 223–236.
- [18] C. Wang, A new q-extension of the (H.2) congruence of Van Hamme for primes $p \equiv 1 \pmod{4}$, Results Math. 76 (2021), Art. 205.
- [19] X. Wang and C. Xu, q-Supercongruences on triple and quadruple sums, Results Math. 78 (2023), Art. 27.
- [20] C. Wei, A further q-analogue of Van Hamme's (H.2) supercongruence for any prime $p \equiv 1 \pmod{4}$, Results Math. 76 (2021), Art. 92.